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Rhombus (FHEqy«):
b bare x hg

C Area=a xXh°’

40\| di
'* o = a? - sin@
~ 1
a’ = —
"2
Peri.= 4a
di d
71, ?2 and a form a RAT.
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Find the length of the asked line segment?

126




1. The diagonals of a rhombus are
40 cm and 42 cm respectively.
The perimeter is

w1 fredt @ aqeisr & fasvon
% $r dTFa1S 40cm IR 42cm %|
IR&ATT gar #:|
a)126  _J5f116
c) 136 d) 106
29 yy




2. If the measure of perimeter and
one diagonal of a rhombus are 40

\4 D C cm and 16 cm respectively, then
the areais

Cewans] [Ng] By o s

_z ‘o, Th

dFE FHAAR 40cm AR 16cm

g a 3T A% FAT FIM?

A
ho _ 8 6 b) 48
LA8C = ° /:))?4 d) 60




.q—l-=- -é' d'/z- = é‘
dy_ L‘ dZ/z_ 4

3. The length of each side of a

rhombus is equal to the length of

side of a squa@whose diagonal
A~

is 40 2 cm. If the lengths of the
dlagonals of the rhombus are in the

ratio 3:4, then its area (in cm?) is

frdlt @ wqelsr &1 sem @
dFars Rt “A0VZ  om W
fasol arer @@t A1 ST F A
g 3R uA a?raisr & fsIon
N dFE T 31?|1=n?r 34 g ar
mﬂﬂ'ﬂﬁl’(cmz #H) gar
a) 1550 b) 1600

c) 1535 #1536

| /



4, The length of the diagonal of a
rhombus is 80% of the length of the
other diagonal. Then, the area of the
rhombus is how many times the
square of the length of the longer
diagonal?

fFdt gHaqds & vE fawor A

aFE gEY Tadu Y qErS w5
80% B 3§ WHGIHS FT &b

QO O

maﬁﬁ?ﬁa;av‘rﬂﬁ»—dm




(Rhovabus with  ons avgle i]
Small diagmal= Gde

(zwg, noo= JaxGioa




H. The perimeter of a rhombus is
40 cm and the measure of an angle
is 60°, then the area of it is

et @ ﬂ'ﬂ'si'a' FT IRATT 40cm
g 3 sUFT TH For 60° T A
10 o SHHT STBd IdT H|
a) 100+/3 cm? %’SO\E cm?
c) 160v3 cm?  d) 100 cm?

5
/&’xf’_ﬁeﬂo = Sof
e 3




£, OABC is a rhombus whose
three vertices A, B and C lie on
cm@ a circle of radius 10 cm with
centre O. find the area of the
\0 rhombus.
\0 10 OABC U& WHUGHS &
R e off Rig A, B 3k
o o A Cfret 10cm s TE &7 0
I arer UF g9 W U §] 59
-qxlwoxa\ gﬂt—rﬂa HT AIF  gdl
I
a) 30v/3cm?
,yf50x/§cm2
c) 10+/3 cm?
d) 100+/3cm?
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7. Perimeter of a rhombus is 2p
¢ unit and sum of length of

_ diagonals is m unit, then area of
QO‘l’o‘(b- m the rhombus is
S Q+b= M TF FHAGHS HT IRAT 2p &
o~~~ 2 IR sus &1 ST m
t| SHST AAHA gdT H|
M =Qab - 2 a)%(m2 — p?) sq. unit
" . 1 ]
2 2 2 b)—mp sg. unit
gz-t,\= % A (m?—p?) sq. unit

@+b> (Q\ b_) d)—(p — m?) sq. unit

| CGL 2013 T-2 | 12



8. If the sum of the diagonals

b)“ L of a rhombus is L and the
9{(0"' e o~ perimeter is 4P, find the
Q P area of the rhombus?
2 L5 I vw Tqs F RFOil w1
Qz-i-b- 'PL qer L 3R 3EET oRAT 4P
- ' e Eg’nrrm TJIqS FT AT
w_p e g
am:gab: z ‘1 P a)Z(LZ—PZ)
\ N M5 (L2 - 4P?)
(a+p)- (0% 5) o)1 (L2 - 4P?)
= 0 2 2 d)1 (L2 +3P?)

CPO 2022 S1, 11 Nov 2022 13
MTS, 25 July 2022 S1



Q. If the sum of length of diagonal
of a rhombus is sec and

/{((H’-b)—‘- See & perimeter is 2 tan6. Find the
2 V area of rhombus.

z % IR ﬁm"rsn:mgraig 3;
2 2 o &1 S seco
R+b= io‘rs smo'rqﬁwrcrzugg g

2tane. e
o= o= 7 o s

L Y
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[o- Area of a Rhombus of perimeter

-is 100 sq cm. Find the
Aab=[0D (W) v 2 sum of the lengths of its

2 2 . diagopals.

QA+b=196 K 56 ¥AHeT TR a@F v
FeraA, & m ﬁawfr";‘gr

_ HHL gl 3q* ]

A+b)= 2 2.1 ST &1 AT A B

a) 33.40 _J134.40

Suvn —s @HS:W c)31.20 d) 32.30

\'l A,




[|. The perimeter of a rhombus is 40 cm
and its height is 5 cm. Its area is

5 mﬂﬂ'ﬂﬂ'ﬂiﬁﬂm40cm
g 3R =@h A€ 5cm B TGS
qdr F:J|

4= Je=to a) 200 50

c) 100 d) 25




|2. The perimeter of a rhombus is 40

C cm. if one of the diagonal be 12

@cm long, what is the length of
the other diagonal?

fFft w7 aqdsr &1 9R#Am

40cm | 3R 38FT TF Aot
12cm WG’TFT’I’WW

$ TFEES IaT B
A 16 b) 8
99 A AR, c) 24 d) 20

ukivg pgdhogo V2o Nipls,(34.1)

Ao = 2
C Ae= B2 =16

D e




|3. The diagonals of a rhombus are

24 cm and 10 cm respectively.
@The perimeter of rhombus (in
v cm) is

Pt ¥ Tqs ¥ T

‘4 ) FFaE 24 cm T 10cm B

SHHT IRATT:
A a) 68 b) 65
u,g,‘,,zj Pnd‘“' kan (5(2,@), ¢) 54 /4(52

Side =12
I)W”’MI‘X = I2xY4Y=52L

E— R



Rectangle (3imad):

D . C

Area=1lXDb

( =14d2.sing

d = I? + b?
Peri.= 2(a + b)




], The area of a rectangular
field is 1840 square meters.
If the length is 15 percent

l1 | more than the breadth,

280125 0= +R4SF 0 what is breadth of the
Jego- RO rectangular field?

) Pt raaER A F

= 23 SATE 1840 T Hlex I

H522 T FHHI aFES TS
¥ 159% SImer g o disr
qdT &Y
a) 46 b) 20

/)’40 d) 80




2. If the length and perimeter of a
rectangle are in the ratio 5: 16, then its

Q_ 5 length and breadth will be in the ratio
= frdlt smaa a?r%m qRATT 3?1
%4 AU 5:16 CEE | E)
& C%”i) + isré @1 e T G?
a) 5:11 b) 5:8

c)5:4 ;/5:3

D | =



& A lawn is in the form of a rectangle,

having its length and breadth in the

gt _ ugc_,:fw 8 1

hectaM |00‘W\ ratio 4:3. The area of the lawn is ’E
The breadth of the lawn is

v gk &eT fhdl 3mad & ™ # §,

B oFas sk dlEE &
1 Mmzloothlon__\owaagm 4:3 3| PR FTH GNT FI
' IR L hectare % ar ST Y

12

= dlsté aar #1]
A Zx= | x10000 2 A5m b) 50 m

IPAYEE . ) 75 m d) 100 m
= \BD 5
R VO
A

%
D | RS




Y. The area of a rectangle is thrice

that of a square. The length of
D;w\ ?; {Z;a;_ |Sthe rectangle is 20 cm and the
X5= breadth of the rectangle is %

<0 A0

times that of the side of the

o 5 square. The length of the

N diagonal of rectangle is
/axi‘&e_’(¥&t fFelt IE & aARd TE
g F TP F AT oI B
Q=5 T H dFETS 20cm¢% IR

gaeh dlsré aof A sem @ 2
om g Iad & fawol )
AFATS T HU|

a) 15 b) 10v2

/25 d) 20

D e




5. The perimeter of the top of

a rectangular table is 62 m,
NS s

Q‘l‘b’— 62_3| whereas its area is 168 m?.
Z What is the length of
diagonal?
Qb= (68 fFdl AR Sw &
N\ 2 42 2 398 Hag FT IRATT 28m
w4 o= +b, 3, afy sEF aAed
l g;smz | 3-\:: ot
2 S AT H
s Q*’b) “ A _a2s b) 20
K c) 15 d) 18
-336
€35 =) d=35

| | 25



6+ The perimeter and area of a
rectangular sheet are 94 m and

Q.'-b: Y7 420 m? respectively. The length
1o;.%llre diagonal will be: e

HIAHFR 2 T

b= y0 dz; 22+bq_ oA 3R aFea FA

\ | 94 m and 420 m? §| R@For $r

qFETE AT B

6@2 (Bh)=ay  a)32m b) 36 m
3% c)35m ﬂ 37 m

|SSC MTS, 27 Oct 2021, Sﬂ 6



7. @ook 15 sec. to cross a rectangular
field ABCD diagonally from A to C

D:Q)(T D C ’ walking at the rate of 52 m/min. and
B took the same time to cross the
@ ' — 5 2mir ) field along sides from A to C walking
x) lx_' 6 S " at the rate of 68 m/min. the area of

v K D the field is:

IS S — 13 |2

[ et maaeR A ABCD #
® A L2 8| RgaIc# IR e W @
['Yh—562wy @_ # 52 m/min F afaT & A F 15
4 \xd Ty AHT FT GHY AT § TUT B H
\gge( “ Y 68 m/min &Y Ifa & SEITHTAB
-\ INBcAATgrRgA A caw

TgEa # W AT a9 g
AT T AT AT HY
a) 30 b) 40

c) 50 AY60
|
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8 The length of a room floor

v fmﬁ v exceeds its breadth by 20 m. The
_ 1o area of the floor remains same
b5 b= when the length is decreased by
10 m but the breadth is increased
b+lo b+20 = 20 by 5 m. The area of the floor is

frdl wF fr FFEE I
glsd ¥ 20m SAET ] IR

(b+10)(bt5) = b(b+20) FFaTE F 10m HERT ST 3R
g€ # 5m TERT ST ar
=) jf+|sb+5o= Jﬁ-ﬁob AIGA WA Tgal | TG
AT FY
5 =5b a) 280 b) 325
o A 300 d) 420

D —_—



K‘ng H?/V\Yy D}M MOH\!X D’d

|

kilo HeAx Dea  Metur D%c

3 km 320Hwy 30D Dkm 3000m Om

Xlo*

1

(m

Much

mwmm

D ]
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4. How many square tiles,

‘ w9 0™ each with side 4 decimeter,
will be required to cover
Da7 Swall MR

the floor of a room 8 m

b"ﬂ AL Ionga;g maglr;ad? 4
= -4 8m 6m =
Small atea r”‘\"’ mﬁ'4deci.m81m
s Small ope TT RSl FIER
7ty ove {lor y TIFeH WIS ST el 82

| - —— = =9x60 a)200  b)260

A il ey c) 280 300

4
KROMDC M

D e



|o. The number of paving stones each
measuring 2.5m X 2m required
to pave a rectangular courtyard
30m long and 17. 5m wide, are
30m @F 3R 17.5m 43
HIAHR JE0T A TFHT

A 2.5mx2m
/2<(ﬁ?>¢><3>§ are  frder mﬁg e

SR gsaii?

a) 99 b) 33

105 d) 80




Bren

[00m

@pd — 19vaJﬁ L byraddh

i a{vsbm._% 5o
Cwm

600\/\,\\:%/ SdoxIS= O(o?jb?t

|ls The floor of a corridor is 100 m

long and 3 m wide. Cost of
covering the floor with carpet
with 50 cm wide at the rate of
Rs.15 permis

frdl A FT wF 100 m
aFaT T 3 m HiET 8] 59 B
$I 15 TU/HRT FeT e 50
cm I3 FrelleT § bt T H

fra=T @< 3uen?
a) 4500 9000
c) 7500 d) 1900




	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32

